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The following load/extension values were obtained when a steel specimen was
tested to destruction.

Load Extension Load Extension
(kN) (mm) (kN) (mm)
10 0.028 70 0.30
20 0.06 70 0.34
30 0.09 72 0.40
40 0.12 77 0.60
50 0.15 81 1.00
60 0.175 84 1.20
70 0.20 85 1.40
71.5 0.22 84.5 1.60
72 0.24 82 1.80
70.5 0.28 71 2.2
54 2.6 Fracture
SPECIMEN DIAMETER = 11.285mm
GAUGE LENGTH = 50mm
DIAMETER AT FRACTURE = 7.5mm

Plot the load/extension graph using scales 1cm representing 5kN and 1cm
representing 0.1mm and hence calculate:-

NoohoN =

The stress at the limit of proportionality.
The yield stress.
The ultimate tensile stress (UTS)
Young’'s Modulus of Elasticity.

Percentage Reduction in area.

The percentage elongation.
State Hooke’s Law.

Note: Indicate the load values used for 1, 2, 3, 4 on your graph.





